SECTIONA-A

o

57

TR 5T

5,2

38

23

2,9

S

25
16

(1
W
s/

il

J N S
]
N/

N

24

NS
2x slot 1 slot 2 16
! SECTION B-B
3,9
26
12 \
N | ) “
ammmt 41004y /
7
Slot for nut M4
4,1
/ ( ) [~ )
N éj:;/\
AN YT
S| - C O D
v J U

Component nr | Quantity | Description

1 4 Grain M4x8 mm

2 1 Button head screw M4x14 mm

3 2 Socket head cap screw M3x10 mm. Head: d 6 mm h 2 mm
4 5 Nut M4 h 2.2 mm

Heat and/or Surface Treatment

Material

Not declared chamfers

Roughness in mm

v (V]

Quantity

Date(dd/mm/yy) Designed by

Massimo  Benelloni

26/11/2021 Drawn by

Nicola Bey

TOLERANCING I1SO 8015 ) (Envelope Principle)
UNLESS OTHERWISE SPECIFIED [~ ]0.1[A[B[C|APPLIES TO ALL SURFACES

ALL DIMENSIONS SPECIFIED IN MILLIMITERS

THIS DRAWING IS THE PROPERTY OF INFN AND MAY
NOT BE COPIED OR USED FOR ANY PURPOSE OTHER
THAN THAT FOR WHICH IT IS SUPPLIED WITHOUT
THE EXPRESS WRITTEN AUTHORITY OF INFN.

Servizio
Progettazione

Meccanica
I N Illlw N Via Marzolo, 8
35131 Padova

PADOVA

ITALY

Tite S
CMS BTL I-beam foot = @
Normal version (5.7 mm) )
Drawing no Sheet
211126_BTL.32 1




